9. Question numbers 34 to 36 in Section-B are questions based on practical skills are two
marks questions.

WIM-3 / SECTION-A
1 HIRrR T 519 #1 eraffs fafa) ' . 1

State the location of genes in the cell.

2 afg fordt fiz = f =1 faeares-—woa o @t Ylta €, < oot ofs =1 weR fafaw) 1

Mention the nature of motion of a body if its displacement-time graph is a straight line.

3 39 T H IO I S 1 kg FHTA F T F 1 ms—2 51 R0 39 FAE | 1

Find the force which produces an acceleration of 1 ms =2 in a body of mass 1 kg.

; : T T SRR pa .
@) wifean RiRES 991 FHEE FTEES & fHav § swifam wgs
(b)  HIW EEHE Fl IHF Fend faeraq /

State the separation technique used for the separation of the following :

(@) Ammonium chloride from a mixture containing sodium chloride and ammonium
chloride

(b)  Copper sulphate from its solution in water.

5 Hiafwr 3t ¥ &= U 9 IR Taw & W fafEw) o FwE 17 i 2

Name the tissue present between internal organs. What are its functions ?

6 @Wﬁm&nwﬁ@ﬂmm/sﬁwﬁﬁlw%iﬁ%ﬁsﬂxﬁrﬁﬁiﬁféﬁ%ﬁz
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S T T ? (g=98ms

A stone is thrown vertically upwards with a speed of 20 m/s. How high will it go before it
begins to fall ? (3 =9.8 ms 2

7 Tl & g st gl w6 § v e T % i w2 s e s 3
Explain why desert coolers are effective in summer and not in rainy season ?

8 i & gelten T o R e 87 & Sfem § Wl ) S A < weiga 6 F w3
fafgu |

How does pressure help in liquefaction of gas ? Name two liquefied gases used in daily life.

9 foelt stnf 3 st 7 wEAel A, B A C F1 KOH 1 25% fawa (zemm/emm) @ =1 3
| BENA ¥ 25g KOH #1 100g 51t # fieman, 8101 B 3 25g KOH 31 100 ml 5t § fieman, aik
B C 7 25g KOH &1 Wil # fiyerar $iR e &1 100 mi fofam) 578 A formd stawass 25% faeram
S SR =2
A teacher told three students A, B and C to prepare 25% solution (mass by volume) of KOH.
- Student A dissolved 25g of KOH in 100g of water, student B dissolved 25g of KOH in 100 ml

of water and student C dissolved 25g KOH in water and made the volume 100 ml. Which one
of them has made required 25% solution and why ?

10 frefafed e gat % iy frg R g §2 | 3
(@)  serife verd qen weEEm
(i)  FARAR TU1 FAREA
(i) S A€ €LY (DNA)

How are the following related to each other ?

(i) Chromatin network and chromosomes
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() Chloroplast and chlorophyll

(iii)  genes and DNA

11 (a) ¥ A e Fif
(b)) HH W EAE W H R SR A2

(@  Mention two functions of stomata.
(b)  Which tissue surrounds stomata ?

12 Tt i Y fearfr-wv w61 e R e €

5
4
! 3
x(m_)2
1
%12 5 4 & &
t(s) —

(@) 29 6sF gaa siaue H FR 7 fnet gt 7@ 1?2
(b) Torm wvg siaua =i o7afy d§ SR & 9w sifus ot 2
() R I Hwad = F uiewed Hifag |

: The position-time graph for the motion of a car is given below :
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(@) How far the car travelled in the time interval 2to 6 s ? T

(b)  During which interval of time its speed was more ?

©

Calculate the average speed of the car.
i
|

13 O Hew 9 XEHE W W10 H g A § B T TR € 10 aR 9w s s ¥ g e aw 3
Fewa ¥ HeF i alwd = aen S A w1 9REer |

et
~7-6-5-4-3-2-10 1 2 3 4 5 6 7
-_ B #HiX C A

(@) A¥B g (b)) ARC(BIN) & WH HIA
|

| A frog hops along as straight line path from point ‘A’ to point ‘B” in 10 s and then turns and
' hops to point ‘C’ in another 5 5. Calculate the average speed and average velocity of the frog
for the motion between.

E

| & &
) N
VY VY
“ly66-4-3-2-10 12 3 4567
i , B Meters C A
@  B)o®) (b)  (A)to(C) (throughB)
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14 et e =1 IR SR A AR W1 791 qY 12 e 9% 98 BEd 9 & I 999 AE | (use | 3
g=9.8 m/s?) T s | |

i) a% a7 f5u8 g8 SR H 3R Hepl TE |
(i) e s S el o g
(m}' g Ude =g 39! feurfa )
A ball is thrown vertically upwards and returns to the thrower aftér 12 sec
(use g=9.8 m/s?) find. .
(i) The velocity with which it was thrown up.

(ii) The maximum height it reaches.

(iii) Its position after 8 sec.

15 T FE FEd ¢ 1 og faueed § € 991 Ha e ? T TV BRI W FIWY R H1E o 3
mmﬁ'nﬁ{mmm~mmﬁwﬁtﬁ€(wﬁﬁ%?

When do we say an object to be at rest and when in motion ? Explain giving an example that
an object can be in motion as well as at rest at the same time ?

16 e < fiel & gomml & o= #1 gl UE 396 oF 9 9 919, A 98 ey 9 BEE W F 3
ford =7 } U ¥ goauE F fea wm o wRafia s dm? 3w gemme § g gnit a1 wdd?
If the distance between masses of two objects is increased by five units, by what factor would the

mass of one of them have to be altered to maintain the same gravitational force? would there be an
increase or a decrease in the mass ?

17 e o fe @ @l vy o e e 7 | fren Sen @i w5 wEn w0 ge ) s 3
I fuar = THEtE RS H UE F e Gl W ISy 9 gHYE F aR H o Jamn 36E
frar X I g A F ot @R w1 W W@ ¥ fau ifa e aw vt S|l W o
ﬁémmmurﬂwmﬁaﬂ%mwm|

()  TEEbE I w1 v fEs qun wEeE /S e ?
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| | l Rameshwa: adwsed hls father to use farmyard manure over fertilizers, he told his father
e |  about the adverse effecL of chemical fertilizers to the nearby water bodies. Rameshwar’s |

| | father encouraged his friends also to use organic manure and careful and judicious use of '

chezmcal fertilizers. ;

(i) Why the chemical fertilizers must be used carefully and judiciously ?

(i)  Manures are natu‘iral fertilizers. How can they be prepared in the field ?
(iii) - Write two values shown here by Rameshwar.
18| f i g 3 e @ g e o e i 5 sed @i 13

tate three methods by V\t’hl(.‘h you can control growth of weeds in agrxcultural fields.
N@@ = Lite any wree dadoes i it Vasieky e 'mvemewf #LS |

19 ;(a) et qazﬂﬁﬁﬁﬁﬁa'—mﬁm e FS '5

| () azm?ti?r,?ﬁ%aﬁaﬂm Jooei q91 Wifegs seREes @ @ fHaer @ g ?ﬁﬁﬁmﬁ |
1 e Fifod TSent SYAnT 319 39 s & veanl i ggE w1 9 w4
(@)  Differentiate between a mixture and a compound.
(b) You are provided with a mixture containing sand, iron filings, naphtha lene and
- sodium chloride. Describe the procedures you would use to separate these constituents from
 the mixture.

20 () W‘ﬂ%qﬁmﬁ&#}ﬁm | :;5 5

| () e i R 8 e e # A e e 8, w7 (Wﬁwﬁmﬁ |
| 1 S i e ot )
‘(@) Define Boiling pqint. '
| (b)  Explain why hem| rature remains constant during boiling of water. (Draw |

' diagram showing conversion of water into water vapours)
. |
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F FIE 09 AeES w1 foafae |

Name a connective tissue which is the hardest. What makes it so hard ? List any three
important functions of this tissue.

22 e gO-TTg TR T S R SR S | NI S

(a)

t ——
(b)
|
|
©
|
t —
(d)
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Describe the nature of force acting in the following displacement-

(@)

time graphs :

(b)

It-————p-

(©
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23 Wwaﬁﬁwﬁf%ﬁuﬁ\w o fafaw) wwi fafy gra fedta aun gdta weie T eI WH s
HifeT |

Write the three equations for the uniformly accelerated motion. Also derive the second and

the third equation by graphical method.

24 GTEER F gy fafgn | @ WM E-TaaR F Am fafar) w-yaa’l | fgao 1 = 5
fafy= fafimt semor S wsmw)
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Define weeds. Name two common weeds. Illustrate different methods of contrcl]ing weeds
in a crop field.

UrT-a / SECTION - B

25 g A A A W SR H Q@ AR gfr yse fon | @ = ¥ faumm 9 w1 whem s 1
e 31 S sfde @ W sm ek

(a) TIHC (b)y  HwIH ‘
(¢)  AYeF = (d) mErEH faega

Rahul took arhar dal and coriander powder from her mother. He wants to test for the
presence of starch. The reagent which he should use is :

(a) dil HCl (b) safranin

(c) methylene blue (d)  Iodine solution.

26 HfFe e T W S9faEE € W g | e WO S SHaeR STt S € Sk sewmi e 1
o3 241§, W YT WRA § fau afens §) wEsru R uwad

(a) a9 qu Frofefieto &)

(b) FIRE H TSHS q¥l IFd &ifa |
(c)  oal adl HIg |

(d) FEafl

Metanil yellow is a common adulterant mixed in dal to give it shiny appearance and to
increase its value but it is harmful to health. It can cause -

(a) Vomiting and dehydrate
(b)  Stomach disorder and liver damage
(c) - Paralysis and leprosy

(d)  Cancer etc.
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27 TR ) ST 991 UewL USSR F o901 1 ST | yue fhar < gl @ 1

(a) T=E & WA ERI (b) HEF TEECHEES T AT

) v ¥ "t (d) (a) 991 (b) 3HI BT

A mixture of iron filings and sulphur powder can be easily separated by :
(a)  using magnet (b)  dissolving in carbon disulphide
(<) dissolving in water (d)  Both(a) and (b)

28 S a9 FEH & Fagu A’ e A ‘B’ SR FeHEe W O TAE YN § o Preforea § 1
S | &0 TR T © 2
(a) Tz A fawmid €1
(b) i B FHE R
() fago A’ § s (smaw) gow § faus sm 2
(d) difrep ¥ @ (37aA) T fausw s @)

When the bar magnet is rolled over mixture ‘A’ of iron and sulphur over the compound ‘B’
Iron sulphide, which of the following observation is incorrect ?
-(a)  Mixture ‘A’ is heterogeneous
(b) Compound ‘B’ is homogeneous
(c) Iron clings to the magnet from mixture ‘A’
(d)  Ironclings to the magnet from compound ‘B’

29w Iriferan e g waren ¥ werd | o € @ 98 o e o ¥, e s dam: 1

(@) = S e (b) @ Sk den

(¢ Wum (d)  =HwIen Yo

When magnesium ribbon is brought near the bunsen flame, it catches fire and the colour of
the flame produced would be :

(a) s-ilvelry - white (b) golden - yellow

(c) reddish - brown (d) dazzling ~ white

30 o W1 feel S IV I WSS W) W GeAaHl s 3 0 W Iwd Rt 3 awen w1
B
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(@)  HfgH (b)  TEEEHA

© F=F (d)  sr=aEedt i

When an onion peel cell is observed under a compound microscope the part that can be
~observed is :

(@  Nucleolus (b)  Ribosomes

(c) Nucleus (d)  Endoplasmic Reticulum

31 frafefaa o d A 991 B &1 Q& TS © -

@ A-F%H B-E3we (b) A-SFwE,B-dtEE
(0 A-dfEm, B-F=w (d A-S3RE B-HF

In the following diagram; the correct labeling for A and Bis :
A

(a) A - Nucleus B - dendrite (b) A - Dendrite B - Axon
() A - Axon B - nucleus (d) A - Dendrite B - nucleus
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32 9 fou o H @ 9% yerd S swEufig Ad emag € 1

(@ (b) FR

()  smEifeq (d) AoEE

Out of the following the substance which does not undergo sublimation is :
(a) Sugar (b) camphor

(c) Iodine (d) Naphthalene

33 el g W oM 9 TF TH 9REN & Q) fauda 99 sge faumee syen vhiia e e 1
Rfafda T8 i 81 3% FE L
()  wHgfem 5@ (b) g 5@
() =T Ed (d) TREEaw

Two opposite forces of same magnitude acting on a body that do not change its state of rest or
motion are called :

(a) Balanced force (b) Unbalanced force
(<) Frictional force (d)  Gravitational force
34 A" Ry e fagol § ¥ Q) W9 a9 URSel faere et 2

(a) g9 U v«

(b) S qur W&

(c) =T UIRST 9UT 5
(d) W UEe a9 §d

()  TEHIN qUl S|
Identify two clear and transparent solutions from the following mixtures:-
(a) milk and water

(b) sugar and water

(<) chalk powder and water
(d)  starch powder and water
() glucose and water

35 TE F TEHF TG T B Y 9R BET A, B, C AU D Y WRTE e & S A9 it 2
T 21 3w B % AW fafey e seeen et 81 o IW w g & fagat o =i

Experimental setups done by four students A, B, C and D for determining melting point of ice
are shown below. Name the student whose arrangement is correct. Justify your answer in two

points.
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36 ‘fevi g SEEIRG F T W F A FeEE wekd’ 99 S0 @ wm o feuf 2
5-6 W2 W T@Y W W@ STavifvd FA §1 e & sEwive & g 87 3@ simem &t w
Fed &2 ' -
In the experiment ‘To determining the mass percentage of water imbibed by raisins’, the

raisins absorb water when kept in it for 5-6 hours. Why does water absorption take place?
What is this phenomenon called?
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